Hardy-Weinburg-Castle Conditions


CONDITION
VIOLATION 

1)
infinite population size
genetic drift
2)
random mating (panmixia)
assortative mating
3)
equal reproductive fitness
selection
4)
equal mutation rates
mutation pressure
5)
immigration = emigration
gene flow
if ALL conditions are met in population then:

     allele frequencies remain constant from generation to 
    

     generation
     the population is at “Hardy-Weinburg Equilibrium”
if ANY condition is violated then:

    allele frequencies will change from generation to generation

    the population evolves – this is “microevolution”
